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completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
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Fourth Semester MBA Degree Examination, Dec.2013/Jan.2014
Project Appraisal Planning and Control
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{ Note: 1. Answer any FOUR full questions from Q.No.I to 7. fb .
Q/? 2. Q.No. 8 is compulsory. (b
z}é, &

a. What is%e t rating index? N (03 Marks)
b. Describe p model for estimation of profit potential of indu ﬁ?& (07 Marks)
c. Explain stratégie position and action evaluation. \&\ (10 Marks)
a. What are principle ashflow estimation? Q/ (03 Marks)
b. Find IRR of the projec comment on IRR. i‘@; (07 Marks)
- "2
Cash f6@Rs.) —C° Gy G,

%,, (1,60,&@ 71,000,000 | -1,000,000

¢. Describe briefly technical issues t(@ 5)n51 red in technical analysis of a project.
rd

What is capital rationing? /Q ~ (03 Marks)
A firm is considering two maghhés A and B’ﬁé chine A costs Rs.75,000 and lasts 5 years

(10 Marks)

IS

with running cost of Rs.12 per year. Mach costs Rs.50,000 but lasts only 3 years
with running cost of 00 per year. Advice which machine to be choosen (Assume
12% discountrate). (@ {07 Marks)
¢. Naveen Co is cou(ﬁng capital project. Data is given bejow. Investment outley is Rs.80
million on planfé@c inery and Rs.20 million on working %ﬁal. All incurred in beginning
of the year. Lifd.8f project is 5 years. At end of 5 years salv Salue fetches Rs.30 million.
The sales- t&me will increase by Rs.120 million per year and Mg@(other than deprecition
intere@ tax) will increase by Rs.80 million. Tax rate is 30% B@‘}epreciation charges
millidn:

fro 1 to 5 are Rs.20, Rs.15, Rs.11.25, Rs.8.44 and Rs.6.33 {-;y:spectively. Find
c@hws per year. @ (10 Marks)

*

‘;Q%mt is shadow pricing in social cost benefit? ’-l;z;[pz, Marks)
4 How is LM approach similar to UNIDO approach? (G2 Marks)

. ¢. What is PIB? What are guidelines followed by PIB in approaching investment pr ?ls?

(10 Ma
.

What is product cannibalization? (03 Marks)
How do you determine economic life of project? (07 Marks)
c. A firm is considering initial investment of Rs.20 million for a project. Variable cost is 2/3 of
sales. Fixed cost is Rs.1 million, depreciation charge is Rs.2 million per year. Tax rate is 1/3.
Cash flows last 10 years. PVIFA (10, 12%) is 5.65. Find B.E.P. from financial BEP view
point. (10 Marks)
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c. C-‘Consider the following projects (All in Rs.)
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What is project indivisibility? (03 Marks)
What are different sources of finance for investment? {07 Marks)
Find the initial path and project duration: (10 Marks)

Job | 1-2[1-612-3|124|3-5|4-5|6-7|5-8|7-8

te | 3 | 216125313 1 1 4
tm | 6 1 5 |12 5 |11 )6 | 9| 419
tp (15114 |30 | 8 [ 17|15 (27| 7 | 28

W
What is abandonment analysis? ;§ BRHG)
[}

What are agency problem? arks)

'S Project 112]3[4]5[6]7]8 [enr
"'Z;ﬂ Cashout flowinyear1 | 50 | 40 { 10 [ 36|25 | 43 | 40 3?:‘73'
“F). [ Cashout flowinyear2 [48 |22 40| 5 |60 15] O

&, NPV 44 (30202535 [ 24 [aN]Z8 | 60
Funds conﬂ@ints for the two years are Rs.150 and 180 respect'\eig.ﬂnd
i) Project‘%ﬂd 2 are mutually exclusive. &
i)  Out of projeT¥e 4, 5 and 6 at least two must be acceg?
iif) Project 9 canftbe accepted unless 4 and 6 are acc /
iv) Project 7 can beselayed by one year, sucl'@delay doesn’t change cash flow but
reduces NPV to 357 A,

v)  Project 8 and 9 are cOfeplementary. If t}eZt/wo are accepted the outflow is less by 8%
and NPV is more by 10% - ib
Formulate LPP. & ™ (10 Marks)
Pl
8 a. What are different project apprais%‘ﬁq? (05 Marks)
b. The balancesheet of Swaraj Ltd at year ‘n’ is as follows:
Liabilities  {Rsin millton 4 Assets Rs. in million
Share capital X, 5 “ | Qlixed assets 11
Reserve surp 4 *éstment 0.5
Secured 1 4 Cdrr@ssets: 11.5
Unsec oan 3 Cash
C 1abilities 6 Receivablp®
lons 1 Inventory &5~
N Total 23 Total¥ ~. 23
The pro'x}p‘d'inco me and distribution statement is ?"0
- Rs. (million}
. é@ Sales 25 )L;)
Si\\ Cost of goods sold 19 & .
oy Depreciation 1.5 "t }»}*._‘_
o PBIT 4.5 .y
_ \% Interest 1.2 ’ ‘?’d}
xw PBT 3.3
0T Tax 1.8 f?@
PAT 1.5
Dividend 1.0

During year n + 1 firms wants to raise secured loan of Rs.1 million and repay previous loan
of 0.5 million. Current and provisions will increase by 5%. Further firm wants to acquire
fixed assets worth Rs.1.5 million and raise inventory by 0.5 million. Receivables will
increase by 5%. Level of cash would be balancing figure. Prepare projected cash flow
statement and projected balancesheet. (15 Marks)
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